

الف) $y_1^3 = 2x^2 + 2x - 1$
 $y_2^3 = 2x^2 + 2x - 1$ } $\Rightarrow y_1^3 = y_2^3 \Rightarrow y_1 = y_2$ تابع است ✓

ب) $2xy^2 + 2x - y^3 - 2y = 0 \Rightarrow y^3 + 2y = 2xy^2 + 2x$ ✓
 هرگاه $y^3 + y = 4$
 رابطه تابع است

$f(x) = \begin{cases} 2x^2 - b & x-1 \geq 2 \Rightarrow x \geq 3 \\ 2x^2 - b & x-1 \leq -2 \Rightarrow x \leq -1 \\ a+2x & -3 \leq x \leq -1 \end{cases}$

$x = -1 \Rightarrow 2(-1)^2 - b = a + 2(-1) \Rightarrow 2 - b = a - 2$
 $\Rightarrow a + b = 4$

الف) $\sqrt[3]{\frac{1}{|x| - [x]}} \Rightarrow |x| - [x] \neq 0 \Rightarrow |x| \neq [x]$

$\Rightarrow D_f = \mathbb{R} - \{ \mathbb{Z}^+ \cup \{0\} \}$

ب) $\sqrt{x} + \sqrt{y} = 9 \Rightarrow \sqrt{y} = 9 - \sqrt{x} \Rightarrow 9 - \sqrt{x} \geq 0$
 $\Rightarrow 9 \geq \sqrt{x} \Rightarrow 81 \geq x \Rightarrow 0 \leq x \leq 81$

$$\text{الف) } \sqrt{\log \frac{1}{x}} - 1 \rightarrow \frac{1}{x} - 1 > 0 \rightarrow \frac{1}{x} > 1 \rightarrow x < \frac{1}{1} \quad | \quad \boxed{x < 1}$$

$$\log \frac{1}{x} - 1 \rightarrow x > 0 \quad \& \quad x \neq 1$$

$$\log \frac{1}{x} - 1 \geq 0 \rightarrow \frac{1}{x} \geq 1 \rightarrow \frac{1}{x} \geq 1 \rightarrow x \leq \frac{1}{1} \rightarrow x \leq 1 \quad | \quad \boxed{x \leq 1}$$

$$\log \frac{1}{x} - 1 \leq 0 \rightarrow \frac{1}{x} \leq 1 \rightarrow \frac{1}{x} \leq 1 \rightarrow x \geq \frac{1}{1} \rightarrow x \geq 1 \quad | \quad \boxed{x \geq 1}$$

$$\frac{1}{x + \sqrt{1-x}} - 1 \neq 0 \Rightarrow \frac{1}{x + \sqrt{1-x}} - 1 \neq -1 \Rightarrow x \neq \pm 1$$

$$\frac{1}{x + \sqrt{1-x}} - 1 > 0 \Rightarrow \frac{1}{x + \sqrt{1-x}} - 1 > 0 \Rightarrow \frac{1}{x + \sqrt{1-x}} > 1 \Rightarrow \boxed{-1 < x < 1}$$

$$f(n) - n + 1 \geq 0$$

$$f(n) \begin{cases} \frac{1}{n} - 1 & : [n] > \varepsilon \rightarrow n \geq \omega \\ \varepsilon n + \frac{1}{n} & : [n] \leq \varepsilon \rightarrow n < \omega \end{cases}$$

② بزرگ

$$\boxed{\omega \leq n}$$

$$\sqrt{f(n) - n + 1} \rightarrow f(n) - n + 1 \geq 0 \quad | \quad \text{① } n \geq \omega \quad \frac{1}{n} - 1 - n + 1 \geq 0 \rightarrow \boxed{n > 0}$$

$$\text{① } n < \omega \quad \varepsilon n + \frac{1}{n} - n + 1 \geq 0 \Rightarrow \frac{1}{n} + \varepsilon \geq 0 \Rightarrow \frac{1}{n} \geq -\varepsilon \Rightarrow \boxed{n \geq \frac{-\varepsilon}{1}} \rightarrow \boxed{\frac{-\varepsilon}{1} \leq n < \omega}$$

$$\frac{1}{x} \varepsilon n^2 + \frac{1}{x} \varepsilon n^2 + 1/n + \frac{1}{n}$$

$$(\frac{1}{x} n^2 + \frac{1}{x} n + 1)^2 \rightarrow D = \{R - \{\frac{1}{x} n^2 + \frac{1}{x} n + 1\}\}$$

$$\hookrightarrow (\frac{1}{x} n + \frac{1}{x})^2 \rightarrow \frac{1}{x} n + \frac{1}{x} \neq 0 \rightarrow \frac{1}{x} n \neq -\frac{1}{x} \Rightarrow \boxed{x \neq \frac{-1}{\frac{1}{x}}} = D$$

$$\sqrt{1 - \log(xn - a)} \rightarrow 0 < xn - a$$

$$1 - \log(xn - a) \geq 0 \Rightarrow 1 \geq \log(xn - a) \Rightarrow 10 \geq xn - a$$

$\Rightarrow$

$$0 < xn - a \leq 1 \rightarrow 0 + a < xn \leq 1 + a \Rightarrow \frac{a}{x} < n \leq \frac{1+a}{x}$$

$$\Rightarrow n \in \left(\frac{a}{x}, \frac{1+a}{x} \right] \rightarrow c - b = \frac{1+a-a}{x} = \frac{1}{x} = \boxed{\omega}$$